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What does complementary mean?

Use your calculator to find the value of the following (Round to the nearest 3 decimals):

1. Sin30°= & > Cos60°= = o
2. Cos21°=_» ‘"’E”SQ Sin 69° = ,,,Cif;(}

3. Cos38°= a1 §% Sin 52° = - 15%

4. Sin4so=_ « 10T (ogaso= IO

0
Based on the above calculations, what do you think Sin 13° would be equivalent to? Cos 177

Can you come up with a rule that would work every time? SN /€S PUV’\C Hons
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Sin / Cos Relationship
Sin A =cos (90 - A) Sin @ =cos (90 - ©)
Cos A=sin (90— A) Cos @ =sin (90 — @)

Using the Sin / Cos relationship:

1. If Angle T and Angle J are complementary angles in a right triangle and Sin T == What is Sin J?
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2. If Angle N and Angle H are complementary angles in a right triangle and Cos N == What is Cos H?
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3. Angle D and E are complementary angles. If SinD = S, what is Cos E?
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4. Angle R and S are complementary angles. If Cos R =~ What is Sin S‘?

N H

O e
&)

5. In AABC, the mzB = 90° For what value of x does sin (x - A) = cos A?

a. 0° b. 45° . 90% d. 180°

6. Which of the following is equivalent to Cos 35°7

a. Sin35° b. Sin55° ¢. Cos 55° d. Sin 145°

7. Which of the following is equivalent to Sin 50%?

a. Cos 50° b. Sin 40° @ d. Cos 130°

8. Which of the following is equivalent to Sin 15%?

a. Cos 15° b. Sin 75° @ | d. Sin15°

9. If the Sin A = 2/3, what is the Cos B?= -
O/ H




